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§1. fEEERET

NXHE
1. iEEERET
HEH
AlEE {BHEE=50mm L= 10170 m
A2IEE {BHaE=20mm L= 9280 m
g =0T, =
L @
Oom -1.1 FER
BREERENE =11 HEXR
8 = =
&S E31 B - HE B M A2 &t r—
1 . - m - 9.28 9.3 B i - 100
HEAREE = ml : T00mm
m 10.17 - 10.2 O o mmsnn - 150m
2 EAHaryy—+ ARV~ (0 3h=24N/mm2) m3 0.67 0.61 1.28 0.3 x0.11 x2xL
3 TRk D16 SD345 kg 63 58 121 L x 4 x 1.56kg/m
4 ELHBTN— D13 b3 203 185 388 (L/0.2)=n nx4
2. BIKEERET
FELEERZRAEK#F
—H& A L= 8.200 + 8.500 = 16.700 m
imER kK A L= 2.900 + 2.200 = 5100 m
HEKHR—R L= 12.000 m
EEH W= 0.490 + 0.690 = 1180 kg
t s =12 HEXR
HKEEHER (RFMH)
% F5 i 1% =X v Al A2 &t
B FERAR (S B3R CR) T - 5 5
. —#A m — 8.2 8.2
RAEAKH B A Ay FER (HHEFFACR) ot — 2 ?
im ER k7K FA m _ 29 29
St Ay AR (AR IRCR) tyh 5 — 5
” —#m m 8.48 — 8.5
RIEKHE iR py i (BB TACR) ot 2 . 2
% &R kK B m 2.86 - 2.9
RYIJEoT V%R WEF B — 6 6
- 0. 100x0. 240x0. 003x11(ﬁg/m3) ke — 049 049
Al R TESIVR HEH 6 _ 6
0.100x0. 340x0. 003x1 1(&2/;;.3) ke 0.69 — 0.69
HKAR—R m 6.0 6.0 12.0
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A1 L1= 0.637 + 0.608 + 0.250 x 2 1.745 m
A2 L2= 0.625 + 0.604 + 0.250 x 2 1729 m
Al Wi1= 0.050 X 0.025 X 1.745 X 1000 2181 L
A2 W2= 0.050 X 0.025 X 1.729 X 1000 = 2161 L
s = 4343 L
INVIT VTR WEE + RBKS50mm
Vi = 0100 x 0.100 x 1.745 = 0017 m®
i TR 5 oo
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